§8.2 N-P 5| HUFILAAR LS55
o T FEIRAT NI E: © = {60,061}
Hy:0 =0y H:0=6,.
o MARE: L(Z,0) =TTy f(2i,0). (LAELLEL 1)
° uﬁktt IEijZ/Uﬁj‘ H:#L ey

4 ,aﬁé%fréq& l%ﬂ ENEATREES [ ' Y

Pgd( X € W)\(J) = Q,

Wy, 27K o FJUMP 75 52 15,
o EM2.2. EdW,, RAMEE, FitLUMPU 75 iE .

A) BRLITH hilfEd: mEE. KR



o N-P SIHFHEW: B&W AT o M7 e, HEKAE
P (XeW) =P (XeW), Hbw, 2w
o HIEBLA, W 5W KT Na M TR, B
Py (X eW) =P (XeW) =a.
_o- EEP% HHT?HK’?E%%{X EWn W}jﬁﬁ% B, FISIE
' lPQO (X W%% ﬁf@(% JAAW

N EEW W)\ {33‘ : L(a:,@l) > /\() ,(1‘,90)} %ﬂ “é” EE_LZ

Li- } L(%,0,)dd = N\ L(%,00)dZ,

A) BRLITH hilfEd: mEE. KR



2.1, X ~ N(u,1). RECEREE B Hy: p =0 Hy :pp=2
17K P No = 0.05 [IUMP 75 52 42K,
o BNSR BRI S LR EL:

b TR 1R [ ' Y

o i LA (S04, o)
a=P(X>c)=PZ>c/n)=c=z2_./vn
o BRI 21005 = 1.65. MIMATRA
={Z:1 > 1.65/y/n}.

hilfEd: mEE. KR




15']22 =

o fLLER R E S IRIBR B

(5:’ 91) _ 2"

{0 1} f(@,0) = Ljoco<ry, fl,1) = 221 (0<e1) R
10 =1 FIUMP 755E 8.

.. .xn1{0<x1 e rp<l}y My ]
(l’ 90) 1{0<r1 a:n<1} ! nH0<wy, - zn <1}
1Mftﬁmi%'ﬂ\\, éﬁzﬁ—ﬁ{‘?ﬂl@]_ e

L(:E, 1)%: =

e AP R (ﬂ}r YA




